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Paired-T Test : 7 VS Eﬁ’?%‘

Yahoo BV S B T 8%
. ftest X3=0
One-sample t test

Variable | Chs Mzan Std. Err.  5td. Dev. [95% Conf. Interval]
msssssmssdssssssssssssEsssssssssssssssssssssssss=s== R
551 50 —2.*1; ) 151.2314 1069, 11’1?3 -637.6633 61,7433

ecrees of freedom: 49

Ho: mean(X3) =0

Ha: mean < () Ha: mean '= 0} Ha: mean > 0
t = -1.9041 t = =1.9041 t = =1.0041
P<t= 0.0314 P=I1tl = 0.0628 P=t= 0.968

H1 p-value =5 i ') # #1 Yahoo &% VS Hrf] ff1 (= #5) pus B 1 EEE -



Paired-T Test : = &4 VS ¥ 1)
BT VS FA
. Ltest X4=(

One-sample 1 test

Variable | Obs Mean Std. Err.  S5td. Dev, [95% Conf. Interval]
____d_....d-i-__..__..______________..__d___dd__..d___..___..____dd..__d..___..__ .
X4 | ] TT0. 58 129.5353 015.9528 310, 2691 1030, 891

Degrees of freedom: 49

Ho: mean(X4) =0

Ha: mean < 0 Ha: mean '= 0 Ha: mean = 0
1 = 5.9488 t = 5.94E8 t = 59488
P<t = 1.0000 P> I1tl = 0.0000 P>t=0.0000

1 p-value =5 (Ff* 1) 1201 5 VS T (< 15) P e R -

Empirical Case(2) ------ ?: :
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Paired-T Test : VS E‘j’?ﬁ}
AU B T RV S P 2 Rl

. ttest X3=0
Cne-sample t test

Variable | (Hbs Mcan Std. Err.  Std. Dev. [95% Conf. Interval]
_________ .I.____________________________________________________________________
131 39 13.87179 .107058 56.87356 -4, 56448 3230807

Degrees of freedom: 38

Ho: mean(X3) =0

Ha: mean < 0 Ha: mean "= 0 Ha: mean > 0
i — 1.5232 I = 1.5¥32 t = 1.5232
P<t= 0.9320 P=ltl = 0.1360 P>=t= 0.0680
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. Ltest Xe)
One-sample t test

------------------------------------------------------------------------------

Variable | (bs Mean Std. Err.  Std. Dev. [95% Conf. [n[ewal]

e i A P 1 B e St

X6 | 30 36.81 4, ':JZGD:Z 3. ?B‘JEE 26,‘?215} 46 6‘}TI?

Degrees of freedom: 49

Ho: mean(Xa6) =0

Ha: medan < 0 Ha: mean != 0 Ha: mean > 0
t = TF.45817 { = T.4817 t = T.4817
Pct= 1.0000 P> I1tl = 0.0000 P»t=0.0000

E[‘p'VdU619IF3Fl' R (P VS IR () 2RI E R
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